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तीन अंश, deicmals, को क के साथ संचालन का  म

2(4, 5 + 2, 9) = ( + ) ÷ 3 =
10
81

5
57

4( + ) =
3
1

3
2

( + 1) ÷ 3 =
2
9

(3 − ) × 5, 4 =
6
1

( + ) ÷ 4 =
5
108

5
12

(4 + 16) ÷ 8 = 4( + ) =
2
1

5
1

(5 + ) × 2, 9 =
3
1

2(3, 2 + ) =
4
1

www.snowmath.com

https://www.snowmath.com


नाम: 　　　　　　　 िदनांक: 　　　　　　  ोर: 　　　

तीन अंश, deicmals, को क के साथ संचालन का  म

2(4, 5 + 2, 9) =
5
74

( + ) ÷ 3 =
10
81

5
57

2
13

4( + ) = 4
3
1

3
2

( + 1) ÷ 3 =
2
9

6
11

(3 − ) × 5, 4 =
6
1

10
153

( + ) ÷ 4 = 6
5
108

5
12

(4 + 16) ÷ 8 =
2
5

4( + ) =
2
1

5
1

5
14

(5 + ) × 2, 9 =
3
1

15
232

2(3, 2 + ) =
4
1

10
69

www.snowmath.com

https://www.snowmath.com

